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1

6 me+m.fa.m+§nm.m
S.lens.mlwmni
1 o1 7 1.7 7 7
7 0T g X23=15 5 %3710 15
7
21 1 85_7_ 1
30730730 6 6

8 @m.ﬁ@wi@umﬁ@@#@
—81+18=4.5
@mT%L@uS&.T&
—9 95-1.8=0.45
web] O+O=4.5+0.45=4.95¢]Ut}
9 awipe& (1.2+1.14) =3
9 34-3=0.78(1)
10 87} 9om H5 obo] Axe Al A
R,
11 @ 2.25:0.8=7.5, @ 1,75+ 0.75=
9.33. @ 8.4:0.5=6.8, @ 8.6+
1.25=6.88. 3 4.2-0.7=6

12 5.%imus.amﬁ.wauiﬁé

13 Aur

&mé.ﬁp?pﬁﬁqs

ol 03
15 2.8+ melm% 1.25) %2

=2.8+3.5+(2.75—1.25)x2
=2.8+3.5+1.5%X2
=0.8+3=3.8

16 Q.m+mmnq.m+§uw.wm@s

17 aam+ng+wua@N+eﬂg+w
=3.27+3=1.09(m)

18 2 S A5 1t
19 :|\xD 0.1x%=7d M,

) 5 25
1 .4 16 14 14

8= 5 904 i5=4 55

-v@ 333570 it

1® 20 skl 3= 7 Hol A

Z ol otk 3 (1)

AR R
=9 4o 5 A&
oL AR =

6 Y8 FAH, mA, UGk f]olA]

Heolgr) 74 80O 9H

ﬁﬁxﬁﬁgg Ao@ 11

A% 13
S l ‘i
15 v 17 @
18 ® 19 @
20 100

s dez d
1

1 % o] A= Fasta g
de Ulgol

7Is g YA =
e
3 (1) 7IEolA= flotel 2l
2 wtoletw gk
(2) dZo A= Ef Hi&e] Sl We
weolehn Fd
4 W5e WhEN gue szel 2
o= Wle] Fe19] Zolo} g
o Wee A=A Ao A=ol 2
ol 7159 Eolok ZEYTH.
7 el gol: UBe HAWA W
of 42101 18] Zol e}
8 o= mAlo] AN W7Fele
Ao glow o) Heke JIA\lﬁL
ct.
10 @2} Zro] &3tk Qlowd
& gle
11 w90 488 SdZ o sto] o Wl B
f B S P2 i

oAz 4

T 9em”
(Ho])=(8+12)x10+2
=20%x10+2

=100(cm?

13,66 2015 @12 3 142
4 (1) 96 (2) 384 5 4 6 64
760 88000 98 1010

11 48 12 (1) 4500000 (@)

0.00072 13 108 14 1264
15 1683 16 (1) 166 (2140 17
140 18 ® 192250 20

%.9] Eo]= 60x30x25=45000(cm”)
of A} 45000mL®]3L, 1.5L=1500mLO]
b8 1.5LE°] 1% =& 7= A9
45000+1500=30(11) Fom Hc},
=30

&
1 (12+12+9)x2=33x2=66(cm?)

b=}
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10
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12

13

14

(1) 5x3=15(cm?”

©2) (5+3+5+3)x7=112(cm”)
(A5HA 2] 2Eol)

=g 2o Hol)x2+(HdHel)
=15X2+112= EonBMV

deHA o Aol) =R Hel Hol)x6
(1) 4X4X6=96(cm”)

(2) 8x8x6=2384(cm”)

7ve] 7|9 g 3070, vel &
7o) At 327)0| 28 o] Hal
7HH Syt

4x4x4=6407))
= 64cm’

4x3%x5=60(cm?)
20x20x20=8000(cm”)
6X6x6=216(cm’)

S¢ gsHA o Fa)
=(6X2)X(6X2)X(6Xx2)
=12X12%x12=1728(cm?)
= 1728 +216=8(1})

6x10%x14=840(cm”)
= 21x[_|x4=840, 84 x[_|=840,
[ ]=10(cm)
%Evn@ weo] gol)x (gol)olnz
(@ 2w o))

=(F39]) +(5°])=624 +13=48(cm”)
Im’=1mX1m X 1m=100cm X 100cm
x100ecm=1000000cm”

800cm=8m, 450cm=4,5m
= 8x4.5x3=108(m’)
20x10X8—(20—6—T7)x6x8
=20X10X8—=TX6X8

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
=1600—2336=1264(cm?) ”
|

15 (8x6x11)+(7x15x11)
=528+1155=1683(cm?)

16 () (AR =(Tx4) X2+ (T+4+T+4)

X 5=166(cm?
Hu])=7x4x5=140(cm’)

17 70x40x50=140000(cm?
= 140L

18 @ 9160mL=9.16L

19 45%25%2=2250(cm’)

13, 3, 3.14, 28.26
169.56
4 (1) 282.6 (2) 301.44
612 75 8A= 10048 9
182.46 10 967.12 11 314
12 31.4, 10, 20, 6280 13 Z&H
Al, 6280 14 (1) 1004.8 (2) 1020.5
15 2797.74 16 1.8 17 9,
452,160 YZANAFREH LEZHCR)
18 @, 160.14 19 4] #£&9] 539
= =old 29 Fujof Zdorg 8x8
X 3.14%x3=602.88(cm’) YUt} o :
602.88

20

2 6, 3.14, 9,
3 28.26, 169.56, 226.08

5 276.32

. 847.8

(1) (5X5x%3,14)x2+(5X 2% 3,14 % 4)
=157+125.6=282.6(cm?

(2) (4X4X314)x2+(4x2%x3.14%8)
=100.48+200.96=301.44(cm”)

(Al ¥4 BHAE)

@m 12+3.14)+2=4(cm)

(@759 2ol
nﬁxgxw.zvxfmmpmé
=100.48+175.84=276.32(cm’)
U] A5 [ L ot
[ 1x3.14x14=527.52, [ ]=12(cm)
(F WO yo])=3x3x3.14

=28.26(cm”)
(Fwlol)=150.72—28.26 X 2
=94.2(cm’)
= (0])=94.2+(3%2x3.14)
=94.2-+18.84=>5(cm)
IRE SR S90S o ¢

(Bx3x3.14)x2+(3%x2x3.14) X5

=56.52+94.2=150.72(cm?)

HNZE IJHZ02 o9 o

(5X5x3,14)x2+(5x2x%x3,14)x3

=157+94.2=251.2(cm?”)

= 251.2—150.72=100.48(cm”)
(3t B e] Yo)=3x3%x3.14+2

=14.13(cm?)

(Fyo)=(6x3.14x10)-2+6 %10
=94.2+60=154.2(cm?
= (A5 0])=14.13x2+154.2

=28.26+154.2
=182.46(cm’)

10 (10x10x3.14)x2+(10x 2% 3,14 %
3)+(4x2x3,14%6)
=628+188.4+150.72
Hma.flmo.qmmeq.SAova

11 LIl S012 = 95 L Ay,

et waxwpﬁwnﬁ.ﬁgﬂ.
13 Y7155 ghglo] &A &t 2ol 7]
Y Fy= ASHA Y Fujel Zoby
ytt,
14 (1) 8x8x 3,14 x5=1004.8(cm?)
(2) 5x5x3.14%13=1020.5(cm’)
15 (97159 #u])=254.34 x11
=2797.74(cm”)
16 % 7]59 Huli= 3x3x3.14%x5=
141.3(cm®) Yy tt,
= 5x5x3.14 %[ ]=141.3,
78.5x[ ]=141.3,
[ ]=141.3+78.5=1.8(cm)
17 (=0)
={326.56— (4 x4x3.14)x 2} +
3.14)
=(326.56—100.48)+25.12
=226.08+25.12=9(cm)
1) =4x4x3,14x9=452.16(cm’)
18 @ : 11x11x3,14x11=4179.34(cm”)
© 1 8x8x3,14x20=4019.2(cm?)
ks @of] §71 =9 Fu)7F 4179.34
—4019.2=160.14(cm® © FYr},
20 & 9759 FojoA A2 47Fe F
& wjo]
= (TX7%x3.14X6)—(2X2X3.14X6)
=923.16—"75.36=847.8(cm”’)

(4x2%

~etn} Bo| (6311 2817)) (5 )

TCM K —— 2817 |=7stAME =X ErX[6-2 5
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S ofd & [=har shar A& e, =401.92+502.4=904.32(cm’)
[]=0.5- ixwwlmi_ A 18 (1) 153.86 X 7=1077.02(cm’)

‘N —_ 3 7 1 1 [e]
116 2 ﬁ\w 3 15,602 wav ; H (2) 50.24 X 9=452.16(cm”) 2 AA EAE felo] opd Hoh Y =
Duawtgémv x0.5 19 (F9) Fol7 FFE vA= EAUYL
1 =(@4x4X314%x10)+(4xX4x3.14X8+2) 4 FFANAE e WS Aot 3
T G- =(1.6+10.5)x0.5=12.1%0.
4©  5605(E=65; 60 IR %05 —502.4-+200,96=703.36(cm) So| Alekelx, o) WS B2 v

20 1356.48mL=1356.48cm?*
=) (320])=1356.48 (6 X6 % 3.14)
=1356.48+113.04=12(cm)

oF Gt

5 O 19484, @< 19604, ©2 1980
4, G 198740l ofud AT

6 315 4 Al7A7t l2lo] slo} Qof

© 76 Us15 el o] &
Fol oh)7] Wil 8 @ 9
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